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ENGLISH  - 40 

(Grammar-20) 

1) Tick the correct option to complete the following sentences:                           1×8=8 

i) The collective noun to indicate ‘a group of birds’ is  

             (a) herd                  (b) flock                    (c) school                           (d) hive 

ii) The word ‘himself’ is a/an  

             (a)Noun                (b) Adjective            (c) Pronoun                         (d) verb 

iii)  The word ‘Bench’ is a  

           (a) Masculine             (b) Feminine       (c) Neuter         (d) Common gender      

iv) The plural form of the word  ‘Fox’ is a  

          (a) Vixen                (b) Foxes                    (c) Foxen                          (d)  Foxess 

v) The word ‘But’ is a   

         (a )  Verb                 (b) Preposition           (c) Conjunction               (d)  Interjection  

vi) The sentence ‘Rahul plays  the tabla well’ is written in-  

         (a) Present Indefinite                                              (b) Future Indefinite      

         (c) Present Perfect                                                  (d)  Past Indefinite  tense 

vii) The past participle form of the word ‘Rise’ is  

           (a) Risen             (b) Rose                    (c) Rising                        (d) Rised    

viii ) The Modal Auxiliary Verb in the blank  will be- 

           ‘He _______________ help you yesterday.’ 

 

          (a) Shall            (b) could                    (c) will                              (d) May 

2. i) Fill in the blanks with appropriate article & preposition :                                                1×2=2 
 

         a) Mihir  is writing  _____________________________ a red pen. 

         b) He is ________________________ideal man. 

   ii) Use appropriate W.H words to fill in the following blanks :                                             1×2=2 

        a) ________________ long will you stay here ? 

       b)  _________________ old  are you at present  ? 
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3) Do as directed :                                                                                                                         2×4=8 

i) Tarun is a good boy .(Make the sentence negative ) 

Ans:-_____________________________________________________________________________  

ii) What is the   plural form of the word ‘Goose’ ? 

Ans:- _____________________________________________________________________________    

iii) Punctuate  the sentence -  ‘will you please bring a little water for me ’ 

Ans:- _____________________________________________________________________________ 

iv) What is the feminine gender of the word ‘stag’.  

Ans:- _____________________________________________________________________________ 

                                                              (Vocabulary -10)       

4. Tick the correct option to complete the following sentences:             1×4=4 

i) The synonym  of the word ‘valuable’ is                                                                           

           a) cheap                    b)costly                    c) shabby                   d) broken                 

ii) Choose the odd word out   

          a) Gun                       b) Machine              c) sword                      d) Pistol 

iii) The antonym of the word ‘punctual’ is  

          a) Timely                  b) Long                    c) Lazy                       d) Late 

iv) Choose the correct spelling – 

         a) Caterpillar            b) Caterpillar              c) Catarpilar             d) Caterpillar 

5. i) Re -arrange  the jumbled letters to form word or sentence :                                            1×2=2  

  i) ‘CHETERA’ 

Ans:- _____________________________________________________________________________ 

ii) always late to Raju School is  

Ans:- _____________________________________________________________________________ 

ii) Do as directed:                2×4=8 

i) A baby cow is called  ? 

Ans:- _____________________________________________________________________________ 
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ii) The cry of a cat is called  ? 

Ans:- _____________________________________________________________________________ 

iii) What is the living place of a dog called ? 

Ans:- _____________________________________________________________________________ 

iv) Write the  name of a ‘group of ships’.  

Ans:- _____________________________________________________________________________ 

(Spoken Expression-10) 

6. Tick the correct option to complete the following sentences:            1× 4=4 

i)  To wish someone in the evening we may use - 

           a) Good Evening!                                               b) wish you evening!  

          c) Evening to you                                                c) None of these.  

ii) What would you say  on your friend’s  birthday ? 

           a) birth day to you!                                         b) Many many happy returns of the day!  

          c)  Be happy!                                                     d) None of these. 

iii) How would you beg sorry to your mother ? 

        a) I’m sorry!.  Can I help you?                        b) Sorry! Mother. 

        c) No problem                                                 d ) Sorry ! 

iv) ‘Thank you ! =_________________________’? 

        a) Welcome!                          b) tanks a lot!. 

        c) No mention                                            d ) it’s OK! 

7. Fill in the blanks of the followings :-                                                                      1×2=2 

i)  Miss: Good morning children!  

  Students:-_____________________________________________________________________ 

ii)Thanks a lot! > _______________________________________________________________ 

8 .Do as directed:                   2×2=4 
i)You are late at School.What would you say to the Class Teacher?                                                          
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Ans:- ___________________________________________________________________________  

______________________________________________________________________________ 

ii)You want to enter Headmaster’s room . How would you beg permission?                                                        

Ans:- ___________________________________________________________________________  

______________________________________________________________________________ 

 
MATHEMATICS -40 

A) সঠিক উত্তরটি ননবোচন কর্রা :                                                                             14x1=14                                                                                                                                                   
 1)টিনো একটো রবোরডে র রকছু অংল রং করররছ রং করো অংলটি ঵঱ -  
 

 

       a)
৩
৬ অংল       b) 

৩
৫ অংল       c) 

৩
৩ অংল       d) 

৬
৩ অংল 

 2)রিত্রটির আকোর রকরূপ :- 

 

                  a)রত্রভুজ       b) ডোয়মন্ড         c)বৃত্ত              d)পঞ্চভুজ 

 3) ৮ x ৯ = ______ +৯+৯ ফোাঁকো ঘরর ঴ংখযোটি ঵঱ ৷ 

        a) ৫৪       b)৪৫            c) ৪৩             d) ৩৪ 

 4) রকোন ঴ংখযোটি ঴োতলত রিোদ্দ ? 

        a)৭০৪        b)৭১৪           c)৭৪০            d)৭৪১  

 5)ররবন প্ররতরিন ৪৭৯ টি রডম রবরি কররন৷ রতরন এক ঴প্তোর঵ কটি রডম রবরি কররন?  

        a)৪৮৬       b)২৮৩৩         c)২৮৩৮          d)৩৩৫৩ 

 6) ৭৭৫৪ এর রেরক ১০ রবলী ঵঱  

        a)৭৮৪৫      b)৭৭৫৫          c)৭৭৬৪            d)৮৭৪৫ 

 7)0 ÷ ৫ = ? 
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        a)লূনয        b)৫            c) ১             d) অ঴ম্ভব 

 8)঴ঠিক রিহ্ন ব঴োও :- ৭ ________ ৪ =২৮ 

        a)x         b) +           c) -              d) ÷ 

 9) ২৬৫৯ – ১৩২৩ = ? 

       a)১৬৩৩         b)১৩৩৬         c) ১৩২৬        d)1363 

 10) XIV + XXII = ? 

       a)XXVI          b)XXXVI        c)XXVIII         d)XXXVIII  

 11) ৩৪২১=৩০০০ + ________ +২০+১ 

       a)৪২০           b)৪০১           c)৪০০         d)৪০  

 12) ৪,০,৪,১, দ্বোরো গঠিত রদ্বতীয় বৃ঵ত্তম ঴ংখযোটি ঵঱ – 

       a)৪৪১০           b)৪১৪০         c)৪০১৪         d)৪৪০১  

 13)৭৫২৬ ঴ংখযোটিরত ২ এর স্থোনীয় মোন কত ?  

       a)২            b)২০০            c)২০         d)২২   

 14)৬৪৯০-২০০-৭০ = __________ ? 

       a)৬২৯০           b)৬৪২০         c)৬২২০        d)৬২৭০  

B) ননম্ননলনিত প্রশ্নগুনলর উত্তর দাও :-                                                                       2x7=14 

 1)মার্নর উর্ধ্েক্রর্ম সাজাও :- ৫৮২১, ৫৪১২, ৫২১৮, ৫১২৮ 

  উ :- 

 2)ফোাঁকো স্থোনগুর঱রত উপযুক্ত ঴ংখযো ব঴োও- 

      ১২৩৪, __________, ৩২৩৪, ৪২৩৪,  __________ 

 3)৯,২ এবং ৫ অঙ্ক রতনটি বযব঵োর করর এবং রযরকোন একটি অঙ্ক িবুোর বযব঵োর করর রয িোর   
  অরঙ্কর ঴ংখযোগুর঱ পোওয়ো যোয় তোর মরযয কু্ষদ্রতম ঴ংখযোটি ঵র঱ো – 

 উ :- 
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 4)রতন অরঙ্কর বৃ঵ত্তম ঴ংখযো , ১৬০০ ,২ ঴঵স্র ৩২ – এরির ঴মরি রনর্েয় কররো ৷   

  উ :- 

 

 5) (১২৫২+১৯১৭ )+_________=_________+(১৯১৭+২৩২৫) 

 6)১৬ x _______=১২ x ______=১৪৪ 

  7) ( ১০ x ৪০)x 0 = ১০ x(৪০ x _________ )      

C) ননম্ননলনিত প্রশ্নগুনলর উত্তর দাও :-                                                                       3×4=12 
 1)ভোগরল঳ কত ? ২০৯৮ ÷ ৯ 

 উ :- 

 

 2)৯০১০ রমটোররক রকর঱োরমটোরর এবং রমটোরর প্রকোল কর ৷ 

 উ :- 

 

 

 3)মার্নর অধ:ক্রর্ম সাজাও :-      
৪
৯  , 

২
৯  , ৭৯  

 উ :- 

 

 

 4)একটি পোরকে  ৬ জন বো঱ক ও ৪ জন বোর঱কো রখ঱রছ ৷ 

  ক)রলশুরির কত অংল বো঱ক ? 

  উ :- 

  খ)রলশুরির কত অংল বোর঱কো ?  

  উ :- 
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GENERAL SCIENCE -20 

1) সঠিক উত্তরটি ননবোচন কর্রা:-                                                                               1X6=6 

 A)উরিি জন্মোয় মোটিরত অেবো – 

      a)জর঱          b)আকোরল         c) রমরঘ          d)রকোনটিই নয় 

 B)র঵উমো঴, পর঱, কোিো এবং বোর঱ এগুর঱ কোর অংল ? 

      a)মোটি         b)গোছ            c)প্রোর্ী           d)পোের 

 C)আমরো রকোন গ্রর঵ বো঴ করর ? 

      a)ইউররনো঴      b)রনপিুন          c)মোরকোরর         d)পৃরেবী 

 D) রপ্রোটিরনর উৎ঴ ঵঱ – 

      a)মোছ        b)রপো঱রি           c)রডম            d) ঴বগুর঱ 

 E)রবর঱ মোটি প্রযোনত রিখো যোয়- 

      a)মরুভূরম এবং স঴করত       b) বনভূরমরত      c)তৃনভূরমরত      d) পবেরত  

 F)পোট গোছ বযব঵োর ঵য় রক সতরররত ? 

      a)িরে       b) ঔ঳য           c) ঴ুগরি            d) ম঴঱ো 

2) অনত সংর্ের্঩ দ-ুএক কথায় উত্তর দাও -                                                                   1x6=6 

 i)র঴ৌর জগরতর বৃ঵ত্তম গ্র঵ রকোনটি  ?  

 উ :- 

 ii)লরক্তর প্ররয়োজন ঵য় ___________________________________ করোর জনয ৷ 

 iii)঴র঱ যন্ত্র রক ?  

 উ :- 

 iv)িটুি উরিরির নোম র঱রখো যোরির রেরক আমরো রত঱ পোই ৷  

 উ :- 
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 v)র঴ৌর জগরতর রকরে রকোন নক্ষত্র অবরস্থত ?  

 উ :- 

 vi)িটুি জ঱বোর঵ত ররোরগর নোম র঱রখো ৷ 

 উ :- 

3)  ননম্ননলনিত প্রশ্নগুনলর উত্তর দাও :-                                                                        2x4=8                                                                                           

 i)কু্ষদ্র কু্ষদ্র রছদ্র উরিরির পোতোর উপর েোরক, যোরক বর঱ _____  

 উ :- 

 ii)঴ূরযের িোররিরক পৃরেবীর ঘুররত কত ঴ময় ঱োরগ ?  

 উ :- 

 iii)রকভোরব লব্দ ি঳ূর্ রনয়ন্ত্রর্ করো যোয় ? 

 উ :- 

 iv)঴ু঳ম খোিয কী ? 

 উ :- 

 

 

For Rough Use 
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